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W is due today and we are

quizzing.
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Multiply the following binomials using the given two-way table to assist you. ]
Example: (2x+ 3)(5x-7)
(5x-7)
T lwe]-ad) = 10024 x-21
+ >
2 A asglen
A=
1. (3x-4)(7x-5) 2. (9x+2)(x+6) 3. (4x-3)(3x+11)
Ly ~3
2 o)
2 (1154
+ el
NCLY ‘
4, (7x+3)(7x-3)

(2> +DDX-D%
5. (3x-10)(3x + 10)

6. (11x+5)(11x-5)

7. (4x+5)? 8. (x+9)? 9. (10x-7)?
1

8.50x11.00 in 4

Oct 14-7:53 AM



SM2-2 9 Ive Got a Fill In - B1.notebook October 14, 2016

) © A D O® [m EBRET O ¢

X +4) 16. y =2(x —25)(x —9) x—m+ercnpt-wv\a(<ey,=o

_____ a. Vertex: (l_' %LD O (X 15 X_GD
X-25=0

- b.x-inter(s)@f‘_.@i_{ﬂ ,D) L(-)X':’éf), X=25

c.y-inter (Oﬂ%@ 3 "2 (26_25)@_5 .q)

3 —5(07(uo
_____ d. Stretch /5 ?j O _2((15)'0)

£ X=2, X '?:0
y= 225 X9

+5) 19. y =2(x + 10)(x + 10)

a. Vertex:
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64 24. y=-3(x—2)2+48 25 y=(x+6)2—1
o a. Vertex: ( 2,48 a. Vertex:_(=lo,~()
o b. x- mter(s)@o D),(-2.0) b. x-inter(s)
o c.y-inter: (O,%4) c.y-inter
d. Stretch ___ > d. Stretch ‘

hat the parabolas in problems 11, 12, & 13 are the same as the ones |

5respectively? If youdidn't, go back and compare the answersin

lems 23, 24, & 25. X~ (Y\kr(,wp\' VY\a\LUj-O
Yinterapt,make X=0 O -3(x- ) +44

y=">(0-* +43
3 = -2(-2)+4
‘j (GHHUR

9=t = (0,54)
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Quadratics Quiz #4: Factoring Quadratics

Factor the following into the factors of ¢
that add up to b in f(x)=ax2+bx+c

)x?+6x+8=(x )x )
2)x2+bx-14=(x )x )

Oct 6-1:48 PM
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2.9 I've Got a Fill-in
A Practice Understanding 7Task
For each problem below, you are given a piece of information that

tells you a lot. Use what you know about that information to fill in
the rest.

1. | You get this: Fill in this:
b__ A C=-12 Factored form on the equation:

y=x%—x—12
1 N x42) -+ )
°- 12 |UM g-\Y\'\(’—mV\' *—0\2 ;:«c%( -q)
-3, Fands L g0 0-2 )
@Lt CA Y=-12 \ 5 pl’fh’ q’(‘n"‘b) (’-\,?) >
—(0’2 _(01-’2:—4 ; raph of the equation: \hxk’y_,& sn
-2 b¥-2=4 | a
12,1 \'\‘ZHV\\

”—

I

. pg B35l -pick frore from
‘ A N iYL (‘F X= S
KPP 51-A - 24%)(-3- q)
b J = 0(-1M)=0
fx=4
g= (4 )4
Y- 10 =

Mar 28-10:02 AM
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2. | You get this: Fill in this:
Vertex form of the equation:

y=x%—6x+3

Graph of the equation:

Mar 28-10:06 AM
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3. | You get this: Fill in this:
Vertex form of the equation:

Standard form of the equation:

Mar 28-10:06 AM
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4. | You get this: Fill in this:
Factored form of the equation:

Standard form of the equation:

Mar 28-10:06 AM
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5. | You get this: Fill in this:
Either form of the equation other than
y = _xz —6x + 16 standard form.

Vertex of the parabola

x-intercepts and y-intercept

Mar 28-10:06 AM
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6. | You get this:

Fill in this:

y =2x?+12x + 13

Either form of the equation other than
standard form.

Vertex of the parabola

x-intercepts and y-intercept

Mar 28-10:07 AM
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7. | You get this:

Fill in this:

y = —2x%+ 14x + 60

Either form of the equation other than
standard form.

Vertex of the parabola

x-intercepts and y-intercept

Mar 28-10:07 AM
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Homework

Finish 2.9 "Ready, Set, Go"

Mar 28-9:36 AM
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